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Wcinht

1 2 1 IHMI - IIMJ + 910 + 201 - 02-^0

2 IS 1 INK) - 7lil + 100 * IHs -1 lil

3 1
.-. 1 (MKI - 4:il -02:! + 901 + b49

4 1
.-)

1 LKK) - Uk; — ^177 + 994 + 4^67

r, 10 1 <MH) + 127 - -wtls 4- '.K)2 -2 18

ti 2 1) 1 iHm + 606 - ait -^ 7',i'j -2- 13

7 1 > 1 IKNI + •850 + .44:; 527 -327
,s 1 "i 1 -OIHI + -9U7 + M^7 + ().S2 + 25

It J ."
1 (MHl + •905 + 1SO7 - 2f,l + -43

Id J II 1 IXHI + 843 + 421 - 5.-t.s + -49

11 i:. 1 mill + 602 - -270 - 79<.l -185
12 1-5 1

1 UKI + ;):;:, - 7711 - 942 + 1-2.S

13 10 j
1 ixm -0<I<.1 - Whl - 995 - 05

14 IS 1 IKKI - 4:i:; - 02.-> - ".M)l - ''5

15 1 .->
t IMHI -IHJ - 175 - 767 + 07

1(3 2.5
i

•

1 mKi - 943 + •780 ~" 332 + 30

whence tin iiciniuil ei|uatioiis

20 r)()().r i-(\:v.i!/ + i-.vis- -'jrh)!! -2-4.J0-0

14-(J04(/ + 1-171; -•51<)(/ -0-492=0

12-9302 -9U0» -5-038 =

12-480« -1-145=0

The solution of these jiiive as coriectioiis,

67 = + -05 km.

5/v' = + -43 km.

&c = + -012

Su =+0°-24

and II value of Z/;;v for the normal places of 73-8.


